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Instructions for Candidates

.

1. Write your Roll No. on the top immediately on receipt of this question
paper.

2. The question paper is divided into two sections. Attempt five questions in all,
selecting three questions from Section A and two questions from Section B.
Simple calculator is permissible.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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SECTION-A
Wus -

(a) In atwo commodity, two country case with only one factor of production

labour, the unit labour requirements in the production are given. Home has
600 units of labour and Foreign has 1000 units of labour. Home requires 3
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units of labour to produce one unit of good X and 5 units of labour to
produce one unit of good Y. Foreign requires 5 units of labour to produce
a unit of X and 10 units of labour to produce a unit of Y. Both the countries
have identical preferences given by the utility function U(X, Y) = 20 X6 Yo+

(1) Construct the world relative supply (RS) and world relative demand
(RD) curves. :

(i) Calculate the equilibrium relative price of good X in terms of good Y.
(iii) Which country specializes in the production of X alone?

(iv) Explain gains from trade for Foreign with the help of a diagram.

(4+4+2+2)
(b) Write short note on any one:
(i) Gravity model
(i) Leontief paradox (3)

(57) = <u, & aegal SR IeweT & Daw T W S H Ry F TeqET F aw a
SEEHAR < 7 Bl 6 3R e & g w600 3 1000 9 3T IueE
2178 ¥ a5 Xl v T I wA @ e 5w o 3 gl g ww Yo
T TS & JUEH A 5 THE W w Tl TSt 21 fRw ¥ oy X ot v
T I T F AT o A 5 g T w Y R v T @ e A
10 THE A H FETSA TR B1 A W X g B frg s w9 2 sk
FE IR Bt U(X, Y) = 20 X06Y04 J foar v 2

(i) fawa wniferer witr v anifers o @t =0 Pt @
(i) o5g X v@ a%g Y & WA A6 A0E qed S e R
(iii) =T &1 W daw X ® IeureT A Rfiredr W @ 27

(iv) foewr & fo form <t werman @ =R ¥ few a@ o @ T S
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(@) =@ A & v W @y oo fordl

(2)

(b)

(c)

(i) eea 9fa®9 (Gravity model)

(i) ferarR® faRrem Y (Leontief paradox)

Assume the world economy with two countries: Zenland (Z) and Lincolnland
(L). Zenland exports more of present consumption and Lincolnland imports
more of the same. And the reverse holds with respect to future consumption.
Assuming the real interest rate to be ‘r’, illustrate international intertemporal
equilibrium in terms of offer curves. Label the axes clearly. (5)

Country A produces hardware and software using capital and labour. For
any given relative price, the ratio of capital to labour used in the process of
production of hardware is greater than that of software. Assess the impact
of an increase in capital of the country on the output produced, assuming
that the relative price of hardware as against software remains constant.
Substantiate your explanation using box diagrams as well as production
possibility frontiers. (5)

Write a short note on intra-industry trade and reciprocal dumping. (5)

() s forfore fe Y 39 et (L) v St (Z) Tl v e sefereen 1 WS

JHT ST 6 e T 2 9 Rieas I A wal 8 3 wias J9E
@ fy e Taa fda fafy 21 78 W gY@ ardfas A PR S 9l
Tl A FHCE HdhTiors A Sl FHAA|

(@) T 3T A Goh TE W BT FART o BRI U WRAA AT I e 21 o o7

& T AR ST W EEAR & I A YoN S S @A Iee | ot
ST ST A U B AT AR [ WA H G BEAA il Afereh hivrd R
&R 21 3w A R A A A gy w I W IR A W W gl S
o Td ITIeA AT 9 T WART X TN g

(1) 33 (intra-industry) SR Ga Hfduze SMAT (reciprocal dumping) W ¥ @Y

feoqot ferani
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4.

(a) The demand and supply functions of two economies A and B are given
below:

D*=1600-40P, SA=800+40P
D®=2000-40P, SP=400+40P

Country B imposes a unit tariff of 5 per unit; calculate the terms of trade
gain, efficiency losses and the total effect on welfare of the tariff. (6)

(b) Use the standard trade model to discuss the effect of import tariffs and
export subsidies on terms of trade. (6)

(c) Write a short note on Metzler paradox. (3)
(F) @ sefaraenslil A R B & Wi ik 9ff waw 9 23 g 2

D4=1600-40P, S*=800+40P
D®=2000-40P, S®=400+40P

B 3 S W 5 Wi S wn 2R e 21 ww et & @, wen sy ol g
T W RE & wE i IoEr A

(@) W =R A & WA 1 ST oRE AR i afas & =R 9 3a w
wE 5 A S

(1) Sewer fREmT (Metzler paradox) W T @ oot forai

(a) The economy of Yeatsland has two sectors: the biotechnology sector and
software sector. The output of biotechnology sector X® is produced using
capital (K) and biotechnologists (B), and, that of software sectors X5 is
produced through capital (K) and information technologists (I). There has
been an increase in the relative price of the output of the biotechnology
sector as against the software sector due to the growing demand. Analyse
the impact of this relative price change on income distribution among factors
using diagrams. (10)
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(b)

(c)
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How can we use the rationale of the “learning curve” and “dynamic increasing
returns” towards furthering the case of protection? (5)

dicadis daaed 3 @ 87 2 Sa WeifE & va dvedm &l S &
1 IR XP o wenfie famws (B) s 9ol (K) @1 wanT e feRar wien ® ga
WAFTAT &7 &1 Ieare XS Yot (K) T2 gar Wenfieieme (1) 1 wan =
ST 21 WS AA D BT WA 8T D G W WA IeqreT & anfeew 1w
A gfe B @ 2 I @ WA @ eE T R W W A S ¥ TR
& woE & Al @ gR e w1

[T &l A & T 7“3 qo6” (learning curve) Ta e gigwe
wfawet” (dynamic increasing returns) & MURES! dehl ol &9 fFd TR WART &
qEhd 87

US is negotiating a mega-regional Free Trade Agreement: Trans Pacific
Partnership (TPP) with 11 other countries (which includes Japan, Mexico,
Malaysia and Singapore). Deploy your understanding of trade creation and
trade diversion towards bringing out the impact of the same on a country
which is part of this FTA? (5)

What would the effective rate of protection on motorcycles in Indonesia be
if the government places a 50% ad valorem tariff on motorcycles, which
have a world price of 5008, and 20% tariff all on motorcycle components,
which together have a world price of 200$? (5)

Show through a simple model as to how labour mobility across countries
results in the convergence in the real wages and increase in the level of
world output. (5)

US 3 11 39 & 919 U& fauner &g 9o =R a9eid e dfafhe e wiEg
(TPP) forest wmamr, Aferaent, st sk AR 8 W 9@l o @I 21 U ow ot fof
T4 FTA &1 938 8 3¢ W 39 G &1 91T AR g9 3 MR @09 (trade
creation and trade diversion) & 3R W T FHIATI

Tfe g & WER Al aEfea, SEet famw awr ¥ 2 5008 2, W 50
i e SER eRE 3k Rewarsfea & aidd e @t @ fva ook 3 759 2008

Yoo i 2
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2, W 20 Ve FeaEr eRE o 36 @ O SSRiEE F Ao wdfhe woake &
WHIE T B ¢

(¥) T WuRy Avse & gW fRaed 6 3 & 9 s nfodie e wew aafaw
TEd W A AT A 2 T e I @ ' A 3w R

SECTION B
wis - o

6. (a) What rationale would you provide for the process of exchange rate
overshooting? Explain the same using the DD-AA framework. (10)

(b) Oikonomia is under a fixed exchange rate as under the Bretton Woods
period. It is currently in a zone characterized by high levels of employment
and excessive current account deficit.

(i) Plot the same in a diagram

(11) Clearly bringing out the difference between expenditure switching and
expenditure changing policies, explain as to which combination of polices
should the country resort to get back to equilibrium. (5)

(&) fafvm = saftes dEa J s it ik & fore so @ar smuwadt fRera waa
TG DD-AA FR@N T YART e §¢ GHEST

(@) ScAgg® & R | Szwniaar 2w R faffma @ sl 81 ada= 3 48 2w I
ATAR &R V9 it o] @l 918 & & a9 % 21

(i) T Raft @ v Forr ¥ sl

(i) =@ e aeet (Expenditure-switching ) & @@ @@a@ ( Expenditure-changing)
Al & FR I o §¢ Tensd foh 3@ 23w ot a3 afve o & forg
Aifed & e @@ @ yaw & =@y ?

7. (a) What happens to exchange rate under sterilized sale of the foreign assets
that keeps the money Supply constant, if we assume imperfect asset
substitutability? Illustrate the same with the help of a diagram. 9)
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Write short notes on any two:
(1) Monetary trilemma in an open economy
(i) Exchange rate pass through

(i11) Banking regulation ’ (3+3)

(F) alk a0 v wRewafa wfoeamer =t 79 &, W@ 5@ oRewafa f <agw

(sterilized) fasft it for wpr &t ufed ot Foor vt 2, o il o= X = oo W
27 fa 9 weEar & @« we ik —

(@) =i ot v oy feoadt foral

(b)

(i) v @eit srfegaeen A e oo
(ii) fafra = s g

(i) SR fafae

The Central Bank of Industried to defend its exchange rate at 18R/$ in the
first quarter of 1991, even when it was fast running out of reserves due to
the deterioration in the current account and the markets were expecting the
currency to devalue to 21 R/$. With the help of a diagram explain the efforts
of the Central Bank to defend the exchange rate at the initial stage, clearly
bringing out as to what happens to interest rate, foreign reserves and money
supply in this process? 9)

Ultimately when the efforts proved to be futile, the government decided to
devalue the currency to 21 R/$. Even when the current account improved
after devaluation, it occurred over a period of time. Discuss the rationale
behind the same with the help of a diagram. (6)

() Ry =g dF 7 1991 & wom fowdl A fafwg st 18R/$ W & & &t ifdmr

T a9 W9 9 @ W e & wRu e e sRfee R S ool @
@ A R aeR ¥ fafeE w R 21 R/S R Srtea i wedrn At 5| uihar A

PO,



3452 8
e ) fRd witm A sk e 9 W BN gt aRede i gee @ Y,
IR aen & fafa X A i & & g S 95 @ s @ e
(ﬁ)mﬁﬁmﬁmﬁﬁﬁaﬁa@ﬁrm%@aﬁ 21 R/$ W FEeaT T &

ot form o @ | GuUR O S AfeT 98 v @ @ we s g e
WEEAT | 3@ & 99 uUREd fGera @t e Fifew o
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